Practice
Expressions: ‘Cancelling’ — Do’s and Don’ts

Answer these problems, then check your answers using the key on the next page. If you missed
something, look at the solutions after the answer key, and if you still don’t understand, watch the review

video again.

#1) Simplify as fully as possible:  7x% +13x—5x* +6-13x

#2) Simplify as fully as possible: i—g—
T . 24x*
#3) Simplify as fully as possible: o
X
#4) Simplify as fully as possible: 2 +28x
T . 3x? +1
#5) Simplify as fully as possible: 0
X
15x% +18x

#6) Simplify as fully as possible: 3
X



3a’h + dab’

#7) Simplify as fully as possible: >
4ab

2x° +8x% +4x

#8) Simplify as fully as possible: 1
X

6x* +2x7 —2x" —4x+2x" +8x7 +4x
8x” +8x—8x% —6x

#9) Simplify as fully as possible:

Ox! —3x% = 3x-3x7 - 9x" 627 +9x% +3x
4x® —8x+5x% +8x

#10) Simplify as fully as possible:



Answers:
#1) 2% +6

8
#2) —
)5

#3) 2x
#4) 1+4x

3x? +1
3x?

45)

5x+6

#6)

3a+4b
4b

#7)

¥ rdx+2

#8
) 2

#9) x(3x2+2x+3) or 3% +2x%+3x

#10) x+2




Solutions:

#1) Simplify as fully as possible: 75" +13x~5x7 +6-1 3
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#2) Simplily as fully as possible:

#3) Simplify as fully as possible:

[2x

fidy Simplify as lully as possible: 2+48x
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#16) Simplity as fully as possible:

3a’h + mflab‘)
dah’
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#7) Simplify as [ully as possible:

(apX8)

X4 &)



2x +8x7 +4x
#8) Stmplily as lully as possible;: —————
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#19) Simplify as lully as possible:

Ox! -3 =3y -3 -0 et + 97 4 3y
4y’ 8y + 53 +8x

#10) Simplify as fully as possible:
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